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1. [bookmark: _GoBack]Doplň do vět správně člen neurčitý a/an nebo člen určitý the.
This is a room.    The room is quite large.
It is a pink flower.    The flower is on the desk.
Where is the book?  It is on the desk.
It is a nice red apple.   The apple is Silvia’s.
Who is the girl and the boy?      The girl is my sister
and   the boy is my friend.


1. Napiš staženým tvarem.
he is not	he isn‘t				it is not		it isn‘t
they are not	they are‘t				I am not		I’m not
I have got 	I’ve got				we have got		we’ve got
they have not got	 they haven’t got		they have got		they’ve got
they are	they’re					you have not got 	you haven’t got
she is 		she‘s					I have not got		I haven’t got
he is 		he‘s					we have got		we’ve got
I am		I‘m					you have got		you’ve got
I have got	I’ve got				we are			we‘re

2. Doplň do vět am, are, is, have.
They are not at school. They are at home.
His name is Jerry. He is 13 and he  is here.
They have got a black cat. Her name is Pussy.
Have you got a car?	Yes, I have.
They  are good friends. 	They are 12.
I am American. 	I am from the United States of America.

